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1. The descriptive measure of dispersion that is based on the concept of a
deviation about the mean is

A. therange

B. the interquartile range
C.bothaandb

D. the standard deviation

E. None of the above answers is correct.

2. The difference between the largest and the smallest data values is the

A. variance

B. interquartile range

C.range

D. coefficient of variation

E. None of the above answers is correct.

3. Which of the following is not a measure of central location?

A. mean

B. median
C. variance e
D. mode ; *
E. None of the above answers is correct. T

4. If a data set has an even number of observations, the median

A. can not be determined

B. is the average value of the two middle items ;
C. must be equal to the mean S
D. is the average value of the two middle items when all items are arranged in

ascending order '

E. None of the above answers is correct.
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5. The sum of deviations of the individual data elements from their mean is

A. always greater than zero

B. always less than zero

C. sometimes greater than and sometimes less than zero, depending on the data
elements

D. always equal to zero

E. None of the above answers is correct.

6. The value that has half of the observations above it and half the observations
below it is called the

A.range

B. median

C. mean

D. mode

E. None of the above answers is correct.

7. The most frequently occurring value of a data set is called the

A. range

B. mode

C. mean

D. median

E. None of the above answers is correct.

8. In a sample of 800 students in a university, 160, or 20%, are Business majors.
Based on the above information, the school's paper reported that "20% of all the
students at the university are Business majors." This report is an example of

A. asample

B. a population

C. statistical inference —
D. descriptive statistics ig-' . jF(jg i} ﬁ ;;JV%

)

E. None of the above answers is correct.
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9. A statistics professor asked students in a class their ages. On the basis of this
_information, the professor states that the average age of all the students in the
university is 21 years. This is an example of

A. a census

B. descriptive statistics

C. an experiment

D. statistical inference

E. None of the above answers is correct.

10. A tabular summary of a set of data showing the fraction of the total number
of items in several classes is a '

A. frequency distribution

B. relative frequency distribution

C. frequency

D. cumulative frequency distribution

E. None of the above answers is correct.

11. The standard deviation of a sample of 100 observations equals 64. The
variance of the sample equals

A.8

B. 10

C. 6,400

D. 4,096

E. None of the above answers is correct.

12. The variance of a sample of 81 observations equals 64. The standard
deviation of the sample equals

A0

B. 4096 -

C.8 R EAHA
D. 6,561

E. None of the above answers is correct.
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13. Which of the following is not a measure of dispersion?

A. the range

B. the 50th percentile

C. the standard deviation
D. the interquartile range
E. the variance

14. If the variance of a data set is correctly computed with the formula using n - 1
in the denominator, which of the following is true?

A. the data set is a sample

B. the data set is a population

C. the data set could be either a sample or a population
D. the data set is from a census

E. None of the above answers is correct.

15. In computing descriptive statistics from grouped data,

A. data values are treated as if they occur at the midpoint of a class

B. the grouped data result is more accurate than the ungrouped result gy
C. the grouped data computations are used only when a population is being é;i
analyzed W
D. All of the above answers are correct.

[
!
]
E. None of the above answers is correct. 1 ‘
16. The measure of dispersion that is influenced most by extreme values is \}
i
'

A. the variance

B. the standard deviation

C. the range

D. the interquartile range

E. None of the above answers is correct.
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17. When should measures of location and dispersion be computed from
grouped data rather than from individual data values?

A. as much as possible since computations are easier

B. only when individual data values are unavailable

C. whenever computer packages for descriptive statistics are unavailable
D. only when the data are from a population

E. None of the above answers is correct.

18. If a positively skewed distribution has a median of 50, which of the following

statement is true?

A. Mean is greater than 50
B. Mean is less than 50

C. Mode is less than 50

D. Mode is greater than 50
E.Both Aand C

F.Both Band D

19. Which of the following is a possible value for the median of the below
distribution?

f(x)
N

1)

1

5"539151055'I°159$FX

E S 1 2} 85
n 3 % AnEAA
B.26
C.17

D. 40
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20. Which of the following statements are true about Bessels Correction while
calculating a sample standard deviation?

1. Bessels correction is always done when we perform any operation on a
sample data.

2. Bessels correction is used when we are trying to estimate population
standard deviation from the sample.

3. Bessels corrected standard deviation is less biased.

A. Only2

B. Only 3
C.Both2and 3
D.Both 1and 3

21. If the variance of a dataset is correctly computed with the formula using (n -
1) in the denominator, which of the following option is true?

A. Dataset is a sample

B. Dataset is a population

C. Dataset could be either a sample or a population
D. Dataset is from a census

E. None of the above

22. [True or False] Standard deviation can be negative.
A. TRUE
B. FALSE

23. Standard deviation is robust to outliers?

"

=
Iigw
=y
-
ﬂ}\\ﬂ

A. True

2

B. False
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24. For the below normal distribution, which of the following option holds true ?

¥

o1, 02 and o3 represent the standard deviations for curves 1, 2 and 3
respectively.

A.o0l1>02>03

B.ol<o2< 03

C.ol=02=03

D. None

25. What would be the critical values of Z for 98% confidence interval for a

—— )
two-tailed test ? /'?x !
: “om
A.+/-2.33
B.+/-1.96
C.+/-1.64
D. +/-2.55

26. [True or False] The standard normal curve is symmetric about 0 and the total
area under it is 1.

E L E2b e
A)TRUE lig; Fa AR

B. FALSE
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Context for Questions 27-29

Studies show that listening to music while studying can improve your memory.
To demonstrate this, a researcher obtains a sample of 36 college students and
gives them a standard memory test while they listen to some background music.
Under normal circumstances (without music), the mean score obtained was 25
and standard deviation is 6. The mean score for the sample after the experiment
(i.e With music) is 28.

27. What is the null hypothesis in this case?

A. Listening to music while studying will not impact memory.

B. Listening to music while studying may worsen memory.

C. Listening to music while studying may improve memory.

D. Listening to music while studying will not improve memory but can make it

worse.
28. What would be the Type I error?

A. Concluding that listening to music while studying improves memory, and it’s
right.

B. Concluding that listening to music while studying improves memory when it
actually doesn’t.

C. Concluding that listening to music while studying does not improve memory
but it does.

29. After performing the Z-test, what can we conclude ____?
A. Listening to music does not improve memory.

B. Listening to music significantly improves memory at p

C. The information is insufficient for any conclusion. 33 2k
| E—:ﬁ? R R

D. None of the above
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30. A researcher concludes from his analysis that a placebo cures AIDS, What

#1228 %9H

type of error is he making?

A. Type 1 error

B. Type 2 error

C. None of thesE. The researcher is not making an error.
D. Cannot be determined

31. What happens to the confidence interval when we introduce some outliers to
the data?

A. Confidence interval is robust to outliers

B. Confidence interval will increase with the introduction of outliers,
C. Confidence interval will decrease with the introduction of outliers.
D. We cannot determine the confidence interval in this case.

Context for questions 32- 34

A medical doctor wants to reduce blood sugar level of all his patients by altering
their diet. He finds that the mean sugar level of all patients is 180 with a standard
deviation of 18. Nine of his patients start dieting and the mean of the sample is
observed to 175. Now, he is considering to recommend all his patients to go on a
diet.

Note: He calculates 99% confidence interval.

32. What is the standard error of the mean?

A.9 o
[ T 2k 1)
oo TR BAAR

D.18
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33. What is the probability of getting a mean of 175 or less after all the patients
start dieting?

A . 20%
B. 25%
C.15%
D.12%

34. Which of the following statement is correct?
A. The doctor has a valid evidence that dieting reduces blood sugar level.

B. The doctor does not have enough evidence that dieting reduces blood sugar

level.

C. If the doctor makes all future patients diet in a similar way, the mean blood

pressure will fall below 160.
Question Context 35-37

A researcher is trying to examine the effects of two different teaching methods.
He divides 20 students into two groups of 10 each. For group 1, the teaching
method is using fun examples. Where as for group 2 the teaching method is using
software to help students learn. After a 20 minutes lecture of both groups, a test
is conducted for all the students.

We want to calculate if there is a significant difference in the scores of both the

groups.
It is given that:

« Alpha=0.05, two tailed.
« Mean test score for group 1 =10

e Mean test score for group 2 =7

¢ Standard error = 0.94
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35. What is the value of t-statistic?

A.3.191

B.3.395

C. Cannot be determined.
D. None of the above

36. Is there a significant difference in the scores of the two grbups?

A.Yes
B. No

37. What percentage of variability in scores is explained by the method of °
teaching?

A.36.13
B. 45.21
C.40.33
D. 32.97

38. [True or False] F statistic cannot be negative.
A. TRUE

B. FALSE
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39. Which of the graph below has very strong positive correlation?

A)
B)

C)

D)

40. Correlation between two variables (Varl and Var2) is 0.65. Now, after adding

numeric 2 to all the values of Var1, the correlation co-efficient will ?

A. Increase
B. Decrease
C. None of the above




